50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs Max. Marks: 80
1 ultitier architecture with neat diag; (08 Marks)
nd a cube with neat skégtcﬁfes. (08 Marks)
2 (10 Marks)
(06 Marks)
3 (09 Marks)
(07 Marks)
4 (10 Marks)
(06 Marks)
5 (08 Marks)

ely after readln%each transaction.
(08 Marks)
6 ‘reference to Apriori algorithm.
(10 Marks)
(06 Marks)
7 (08 Marks)
(08 Marks)
8 (08 Marks)
(08 Marks)
9 (08 Marks)
(08 Marks)
Y

10 a. What is cluster? Explain three different types of clusters. (08 Marks)
b. Explain DBSCAN clustéring algorithm. ' (08 Marks)
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